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QUESTION 1

In a chassis cluster, which two characteristics are true regarding reth interfaces? (Choose two.)
A. A reth interface inherits its failover properties from a redundancy group.

B. Reth interfaces must be the same type of interface.

C. Reth interfaces must be in the same slots on each node.

D. A reth interface goes down if one of its child interfaces become unavailable.

Correct Answer: AB

QUESTION 2

You want to trigger failover of redundancy group 1 currently running on node 0 and make node 1 the primary node the
redundancy group 1.

Which command would be used accomplish this task?

A. user@host# set chassis cluster redundancy-group 1 node 1

B. user@host> request chassis cluster failover redundancy-group 1 node 1
C. user@host# set chassis cluster redundancy-group 1 preempt

D. user@host> request chassis cluster failover reset redundancy-group 1

Correct Answer: B

QUESTION 3

Click the Exhibit button.

You are trying to create a security policy on your SRX Series device that permits HTTP traffic from your private
172.25.11.0/24 subnet to the Internet. You create a policy named permit ?http between the trust and untrust zones that

permits HTTP traffic.

When you issue a commit command to apply the configuration changes, the commit fails with the error shown in the
exhibit.

Which two actions would correct the error? (Choose two.)
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[edit security from—=zone trust to—zone untrust]
userfhostf show
policy permit—http {
match {
gource—addresas 172.25.11.0/24;
destination-address any;
application http;

}

then {

permit;

[edit security policies from-zone trust to—zone untrust]
userfhostf commit
[edit security policies from-zone trust to—-zone untrust policy
permit—http match application]
‘nttp’

gpplication or application-set must be defined
errcr: commit failed: (statements conatraint check failed)

A. Create a custom application named http at the [edit applications] hierarchy.
B. Execute the Junos commit full command to override the error and apply the configuration.
C. Modify the security policy to use the built-in junos-http application.

D. Issue the rollback 1 command from the top of the configuration hierarchy and attempt the commit again.

Correct Answer: BC

QUESTION 4

You want to protect your SRX Series device from the ping-of-death attack coming from the untrust security zone.

How would you accomplish this task?

A. Configure the host-inbound-traffic system-services ping except parameter in the untrust security zone.
B. Configure the application tracking parameter in the untrust security zone.

C. Configure a from-zone untrust to-zone trust security policy that blocks ICMP traffic.

D. Configure the appropriate screen and apply it to the [edit security zone security-zone untrust] hierarchy.

Correct Answer: D

QUESTION 5
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Click the Exhibit button.

[edit security policies from-zone trust toO-zZONE UNtrust)
userfhosté show
policy custom—ftp |
match |
source—address 172.25.11.0/24;
destination-address anys
application custom-ftp:
1
then |
permitc;
}
}

[edit]
userfhost# show applications
application custom—ftp destination-port 2121;

Users at a remote office are unable to access an FTP server located at the remote corporate data center as expected.
The remote FTP server is listening on the non-standard TCP port 2121.

Referring to the exhibit, what is causing the problem?

A. The FTP clients must be configured to listen on non-standard client ports for the FTP data channel negotiations to
succeed.

B. Two custom FTP applications must be defined to allow bidirectional FTP communication through the SRX Series
device.

C. The custom FTP application definition does not have the FTP ALG enabled.
D. A new security policy must be defined between the untrust and trust zones.

Correct Answer: D
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